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Defence and Strategic Studies

Paper II

TT UG AHReh 31eq9A
PEELIECTE |

Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U7 STRd. T WYY Wi

TOAT @ A1 TRAUCThd THY TR (100) TgHaE WA fRen ofed. Tod TR g (2)

Operational Commands in Indian

Air Force are :
(A) 6
B) 7
(C) 4
D) 5

Which one of the following is not
part of the Human Security
Discourse ?

(A) Freedom from fear
(B) Freedom from want
(C) Resource scarcity
(D) Defence expenditure

What differentiate between the
notions of STATE and notions of
NATION ?

(A) Territory

(B) Sovereignty

(C) Political integration

(D) People and Government

TN B8 Qoald Tohdll SIS HHFSH
amed ?

(A) 6

B 7

(C) 4

D) 5
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(A) qaew
(B) FEYHE

(C) TSIhIT ThHIHU (TH)

(D) a1 A ImEA
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Which one of the following is not a

factor of “Nuclear Deterrence” ?
(A) Communication of Power
(B) Credibility of Power

(C) Membership of United Nations

(D) Rationalisation of National

Power

When the subject “Defence and
strategic studies (Initially as

Military Science)” was started in

Maharashtra ?

(A) After 1962 War

(B) After World War 1
(C) After 1971 War

(D) After 1857 Revolution

Sistan and Baluchestan Province is

situated in :

(A) Pakistan
(B) Iran

(C) Afghanistan

(D) Tajikistan
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(D) 1857 =1 FSMH
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Who among the following
popularised the notion of ‘Industrial
military complex’ ?

(A) President Eisenhower

(B) Raymond Aron

(C) Paul Kennedy

(D) Robert McNamara

The origin of the modern nation
state system is associated with one

of the following :

(A) Congress of Vienna
(B) Treaty of Utrecht
(C) Treaty of Westphalia
(D) Paris Agreement

The book ‘The Geography of the

Peace’ is authored by :

(A) A.T. Mahan

(B) Nicholas John Spykman
(C) Karl Houshofer

(D) Friedrich Ratzel
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10. Match the countries with the year | 10 @i« el U

in which they conducted nuclear

tests, given in Table I and II : 1 eI
Table-I Table-II (@) wifegad grem @ 1960
(@) Soviet Union (2) 1960 ®) T (i) 1964
b) UK. (1) 1964
¢ ) =M (iii) 1952
(¢) People’s Republic (ii7) 1952
(d) ™ (Iv) 1949
of China
(d) France (iv) 1949 Hekelleh :
Codes : (@ b)) © (@
@ & © @ A) Gv) G @) 6

(A) G@uv) ) G @)
B) @ @) G@v) i)
B) @ G) Gv) G
_ . o (©) Gv) @) Gi) @)
(©) Gv) @) Gu) @

D) Gi) @) Gv) @) D) @) Gi) Gv) @)
11. Native name of Military Thinker | 11. "“‘g7g'' o1 @il fommaadr oo
Sun Tsu was : (Higfaeh) E ECE
(A) Sun-Tao (A) GA-as
(B) Sun-Zu B) G1-g
(C) Sun-Wu (C) ¥-9
(D) Sun-Ma (D) gI-w1




12.

13.

14.

Pakistan’s army launched

‘Operation Ababeel’ for the territory

(A) Baloochistan
(B) FATF

(C) Kashmir Valley
(D) Siachen Glacier

‘Look East Policy’ of India launched
by the Govt. of India led by the

former Prime Minister ........
(A) P.V. Narasimha Rao
(B) Manmohan Singh

(C) Atal Bihari Vajpayee
(D) Indira Gandhi

Carl Von Clausewitz belongs to the

country of .............
(A) Prussia

(B) Russia

(C) Germania

(D) Macedonia

12.

13.

14.
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(A) aIf=r

(B) THTITH

(C) =HHRE ©l

(D) faarh femee
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(A) d=d. T

(B) A

(C) szt forl arsioedt

(D) T M

Fld =M FAlSIACS © IOl QLMed
eifd smed ?

(A) wigrn

(B) IEm

(C) SHf=n

(D) Hereitn
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15.

16.

Find the correct ascending
chronological sequence of the

following thinkers :

(A) Haushofer, A.T. Mahan,

Mackinder, S.B. John

(B) S.B. John, Mackinder, A.T.

Mahan, Haushofer

(C) A.T. Mahan, Mackinder,

Haushofer, S.B. John

(D) Mackinder, S.B. John,

Haushofer, A.T. Mahan

Who said, “Spies are the most

important element in war because
on them depends an army’s ability

to move ?”
(A) Kautilya
(B) Jomini
(C) Sun Tzu

(D) J.F.C. Fuller

15.

16.
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17.

18.

Match the strategic thinkers with
their respective area of war doctrines
on the basis of the following List I
and List II :

List I
(@) Clausewitz
(b) Douhet
() Marx
(d) Fuller
List II

(z) Air Power
(z1)) Mechanised Warfare
(zii) War as an instrument of Policy

(fv) Social Revolution
Codes :
(@ @) @ (@
A @ @) Gu) Gv)
(B) Gu) Gi) @) @)
(C) @ @) @) @(v)
D) @) @ Gv) G@)
J.F.C. Fuller was called by his nick

name of ...........
(A) Boney
(B) Coney
(C) Loney
(D) Toney

APR - 16224/I1—A

17. @it foemEartt == d«@fad I8

fagrarell Sesavit 4 :

9qrT-1

(@) AT

(b) e
(c) [

(d) Tl

TrT-11

(@) B TR
(i) =F I§

(i) 95 ® ARUTE HEA
(iv) HHIfSTR STl

W :
(@ ()
A) & @)
(B) (v) (i)
©) @
D) (@i @)

(1)

(¢) ()
(@) ()
@ @)

@) @)
() @)

18. S.U.H. TR T Weierient shivrar
(TF=1) AEH Hage S| g ?

(A) s
(B) =M
(C) =it
(D) 2+t
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19.

20.

21.

22.

‘A captain who taught the Generals’

is associated with whom ?
(A) Douhet

(B) Liddell Hart

(C) Mitchell

(D) Mackinder

‘Das Kapital’ written by Karl Marx
and first time published in the year
...... in Hamburg.
(A) 1861
B) 1863
(C) 1865
(D) 1867

Where is the Headquarters of
NATO ?

(A) Berlin
(B) New York
(C) Brussels
(D) Paris

When did India proposed
‘Standstill Agreement’ at the United

Nations ?
(A) 1955
B) 1956
(C) 1954
(D) 1957

19.

20.

21.

22.
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‘Toh T FEA fo sm SR’ @
forrfael ¥ Oeliadest HomRl Hetod
e ?

(A) @E
(B) fafes &

(C) TR

(D) Hish=et

Fel " Al fafgeren ‘@ wivea’
T UY WHAT: IO q6I T FHLoAT
e ?

(A) 1861

(B) 1863

(C) 1865

(D) 1867

‘IR W EEeA™ YHE e Hid
& ?

(A) A

(B) =+

(C) FHe™

(D) =

TRAE g U HEW e

A== JE shegl TRt hell 7
(A) 1955
(B) 1956
(C) 1954
(D) 1957
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23.

24.

25.

The International agreement
between countries that provides a
complete framework for the
establishment, maintenance and
termination of diplomatic relations

between sovereign states is called :
(A)
B)

Geneva Convention

UN Declaration of Human
Rights

(&)
(D)

The Vienna Convention

The International Treaty

Organisation

Which of the following countries are
members of BIMSTEC ?

(A) Thailand

(B) Myanmaar

(C) Nepal

(D) All of the above

What is peace-keeping activities ?
(A) The UN Monitoring of

ceasefires and separating

combatants

(B) The UN bringing combatants to
negotiation

(C)
(D)

The UN observing the ceasefires
The UN bringing the nation

states to negotiation

23.

24.

25.
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26.

27.

28.

Who coined the term ‘’Narco-

terrorism” ?

(A) Kenneth Waltz

(B) John Mearsheimer

(C) Fernando Belaunde Terry
(D) Robert Keohane

Who has written the book “The
History of the Peloponnesian
War” ?

(A) E.H. Carr

(B) Thucydides

(C) Hans J. Morgenthau

(D) Machiavelli

What is counterforce strategy ?

(A) Nuclear missiles aimed at the
enemy’s missiles rather than at
its population or industrial

centres

(B) Nuclear missiles aimed at the
enemy’s population rather than

at its missiles installation

(C) Nuclear missiles aimed at the
enemy’s economic centers

rather than at its population

(D) Nuclear missiles aimed at the
enemy’s Commerce Capital
rather than at its Industrial

Centres

26.

27.

28.
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(A) frg Sfees
(B) 7 HITIER
(C) wAEl s 2
(D) Te A
YT fedl o fo TyeiMitRae &)’ =
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(A) 3.TE. R

(B) gdteEed
(C) B <. |

(D) WHehagedl
FRN HE TSl BN & ?
(A) Afveeh ST I ST

T F LAl AN a9 Edlr ST

AR HeET @& M

(B) srfvas &AquEd & guTET=AT

TERUEST ¥ ARl SHIEdi
A& h{did

AT &9UME AR FETRdrias
AT SAMUE hglell A& HIAA
sifoeeh &9 IEEAT SR

hgTUEsS T SR SEFTERT=A]

(®)

(D)

ST <18 shidrd
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29.

30.

31.

Who founded Lashkar-e-Taiba ?
(A) Hafiz Saeed

(B) Zafar Igbal Shehbaz

(C) Naib Ameen

(D) Muhammad Yahya Mujahid

India conducted nuclear test the so

called Pokharan-I in the year :
(A) 1974

B) 1976
(C) 1998
(D) 1999
What is the strategy of
bandwagoning ?

() To outsource its security to the

regional or global hegemon
(i) To resist regional or global
hegemon
(zii) To extract benefits
(A) All three are correct
(B) All three are wrong
(C) Only (@) and (ii) are correct

(D) Only (i) and (iizi) are correct

29.

30.

31.

APR - 16224/I11—A
TR JE AT GESATE LTIl o
el ?
(A) BIHIS Hopg
(B) W ST WS
(C) ==& 3THH
(D) HeHg FEN YSTER
el 99 YRAM TIH=/igell STl

IV quE Eae Bt 2
(A) 1974
B) 1976
(C) 1998
(D) 1999

STATE WSl WS & 2

(@) HEEE weferen for S St
S A0 A H

Gi) gRfeer omfor Smifass R
TfaehR <ol

(iii) TewEqU T @Y Hu

A) fogt T TR o

(B) ol qatg == TR

(C) el (z) M7 (i) SR 3R

(D) e (i) M0 (i) S=X Aed
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32.

33.

34.

What is not included in internal

security ?

(A) Prevention of illegal activities

within borders of the country

(B) To prevent activities that are

detrimental to the security of

the country

(&)

Maintaining law and order
(D) Protection of Foreign Affairs
Brahmos is :

(A) a cruise missile

(B) medium range air-to-air missile
(C) antitank missile

(D) beyond visual range missile

Star wars and NMD is violative

of :

(A) Outer space treaty
(B) ABM treaty

(C) MTCR

(D) SALT

32.

33.

34.
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ST GRATEY qareTish! o HHET]

FL0I ST Al 7

(A) FFHHCIR FHeATA ST ST T

HOI STl 3T

(B) GR&=AT SieehMIgd 9=l L&l
T dgeE SR FoA giaay
(M) FUA ATA AR

(C) sl 9 gATEE STHTeSevi

(D) TIE HeEfYd s \laT vl

ELEs

(A) F9 HoEa o r

(B) TAQH-Tad AN TR ALAH Toedrd
U 3]

(C) TOTTETael &9umes 3Te

(D) Tr=N Uelihe AR HI0 S90TE
S

WRER A0 TLTH.Sl. & Selierdehl

FIM Soae Hld 7

(A) 9 3TIRPT hiX

faNira

AL

(B) I dordiw THEEA
(C) TH.AILAR.

(D) TH.T.UAL. (FwE)
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35.

36.

37.

38.

What is the popular name of

Strategic Defence Initiative

(SDI) ?

(A) Star wars

(B) Earth wars
(C) Maritime wars

(D) Ocean wars

The host Government for the
conference on a “WMD Free zone in
the Middle East” is :

(A) USA
(B) Finland
(C) Egypt
(D) Norway

What is the only state to have
withdrawn from the NPT ?

(A) Australia
(B) Syria

(C) Iran

(D) North Korea

Warsaw Guidelines (1992) of the
NSG refers to :

(A) Fullscope Safeguards

(B) Facility Specific Safeguards
(C) INFCIRC 66

(D) INFCIRC 540

35.

36.

37.

38.
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B) frer<e
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(D) e

g TR w51 (NPT) IR STTER
TR THHT TG S0 2
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B) &=

(C) =

(D) ST R
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el gfaa S uresis g
TECTR! RIVIEN Hafad e 2

(A) HETEhIY
B)

©)
(D)

= C
dnllled

AT NN
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STHRIHTH TRRIER-540
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39.

40.

41.

What type of technology does the
Wassenaar arrangement primarily
control ?

(A) Nuclear technology

(B)

Conventional arms and dual

use goods and technologies

(C) Chemical and biological

technology
(D) Missile and UAV technology

India joined the Missile Technology
Control Regime (MTCR) in the

year :

(A) 2016

B) 2007

(C) 1998

(D) 2011

Nuclear Non-Proliferation Treaty
(NPT) entered into force in which
year ?

(A) 1970

B) 1965

(C) 2001

(D) 1968

39.

40.

41.
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JEITeh! ST TR & o UM Bl
FHLOETE ISR =101 hel S ?

(A) =Afvesr TogH

(B) IRUIE I fgsugaman asiae
(C) et onfor Sifas dere

(D) TaoEa sufor Jued! aoee

TEITIeh] HRG IO a6 fHmsd
TGS el STeH=l e Sel ?
(A) 2016
B) 2007
(C) 1998

(D) 2011

TSI HRIE] I STHAISITa U

TEITTdRT HITCAT FIEA  HAT
e ?

(A) 1970

B) 1965

(C) 2001

(D) 1968
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42.

43.

44.

Which two countries initiated
bilateral negotiations on restrictions
on their strategic nuclear arsenals

and in which year ?

(A) India and Pakistan, 1971
(B) China and USSR, 1960
(C) India and China, 1962
(D) US and USSR in 1969

Whom World Trade
Organisation (WTO) report to

does

annually on its efforts to achieve

trade specific targets in SDGs ?
(A) President of America
(B) Chairman of WTO

(C) UN’s High-Level Political
Forum (UNHLPF)

(D) Secretary General, UNO
Which is the United Nations (UN)

agency that assists and safeguards
the rights of internationally

displaced persons ?

(A) UN-IDP

(B) UNHCR

(C) UN REFUGEE Convention
(D) UNDP

42.

43.

44.

APR - 16224/I1—A

S

AR AfvaE JAYSRETET Jelerdeh]
IV & ehegl QI UsHT fguaft araesiet
==t el ?

(A) 9Ra enfor wifeRea, 1971

(B) =M amfol J.UH.TH.3R., 1960

(C) 9ra 3nfor =i+, 1962

(D) I.UH. 0 J.TH.TH.AN., 1969
STfeR SR =T (WTO) SDG T

B) WTO I =3{HA

(C) UN = S=gdav
(UNHLPF)

(D) ¥Hehelt SR, UNO

ot UN Tdl 38 S ST
Torzenfuq SaRi= AR BT Hd
afor EReor 39 2

(A) UN-IDP

USIHTE HH

(B) UNHCR
(C) UN REFUGEE Convention

(D) UNDP
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45.

46.

47.

When was the Comprehensive Test
Ban Treaty (CTBT) seeking to ban
all nuclear weapon tests opened for

signature ?

(A) 1 January, 1946

(B) 1 May, 1994

(C) 24 September, 1996

(D) 31 December, 2000

When the SDG were accepted ?
(A) 10 January, 2000

(B) 20 June, 2012

(C) 17 September, 2015

(D) 30 September, 2013

38th parallel or latitude 38°N is the
line that demarcates between which

two countries ?

(A) China and Taiwan

(B) India and China

(C) Pakistan and Afghanistan

(D) North Korea and South Korea

45.

46.

47.

APR - 16224/1T—A

HEHAEY STUTESIENsE] SHUer Te]

Shetedl TMHT IR doa] Horl e
T

(A) 1 STHaRT, 1946

(B) 1 ¥, 1994

(C) 24 ¥, 1996

(D) 31 fed=r, 2000

yYed faemme 3R (TE.E1S.) Sen
SRR 3 ?

(A) 10 STHaH, 2000

(B) 20 I{, 2012

(C) 17 ¥@a, 2015

(D) 30 W@, 2013

38° WTel/TIeTE TR Jciish! v
S 331 Yeifed smed 7

A) = anfor qam

(B) wra o <=

(C) WIfeh&i ST ST

(D) ST AN M0 SIar0T ShIHE
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48.

49.

How many countries are included in
the Central Asian Republics
(CAR) ?

(A) Six

(B) Ten

(C) Five

(D) Eight

Which Indian law primarily
deals with the crime of money

laundering ?

(A)

Criminal Procedure Code

(CrPC), 1982

(B) Constitution of India, 1950

(C) of Internal

Security Act (MISA), 1975

Maintenance

(D) The Prevention of Money-

laundering Act, 2002

48.

49.

APR - 16224/I1—A

ey SfYTE yeeeRiaed fohdl Qu
HHIfase a8 ?

(A) @&l

B) <=

(C) [r=

(D) 318
IV AR hAQ] GrHEA HAl-

Sl e oy 2

(A) RERT fswan Eiear, 1982
(B) YR Hfaem, 1950

(C) STAfer Y& SERE HTaRT (HE),

1975

(D) w-wifE wfaey e, 2002

50. Which day 1is observed as | 90. UK S RIS A (A1)
International Migrants Day ? fqod WUE WS hell W ?
(A) 1 January (A) 1 e
(B) 18 December (B) 18 &=
(C) 13 May (C) 13 w8
(D) 15 August (D) 15 A=
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51.

52.

When and where did India conduct

its first nuclear test successfully ?

(A) 1st January, 1950 at Thumba

Rocket Launch Facility

(B) 18th May, 1974 at Army Base,
Pokhran Test Range (PTR)

(C) 3rd May, 1998 in Rajasthan

(D) 26th June 1975 at

Kanyakumari, Tamil Nadu

The infrastructure project that links
Gwadar and Karachi ports in
Pakistan to Xinjiang Uygur
Autonomous Region (XUAR) is

called :

(A) Gwadar-XUAR Link Project

(GXLP)

(B) China-Pakistan Economic

Corridor (CPEC)
(C) PORT to Mountain Project
(PTMP)
(D)

Sagarmala Project

51.

52.

APR - 16224/1T—A

AT ufgell IR0l heal MU S
et ?

(A) 1 SHeTd, 1950 &= Uehe 4
TR

(B) 18 ®, 1974 Al o9, YERT &
=

(C) 3 § 1998, T=EIH

(D) 26 5[4, 1975 HARARI, THIES,

qIfehEaTATeT TaTgY STTUT S e AT
RerfS 3o W@ Ya¥ (XUAR) &0
STEUM qrRTYd gfaen Yehedrel &
RIS

(A) T™EI-XUAR o W=

o N\

EAIESEIRS

(B) <SH-TIfeh&d™ SehIATHh

(C) UR T HWEAed UmsEe (PTMP)

[N

(D) ITRHTEAT Teiee
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53.

54.

55.

With a view to put India in a more
“Proactive regional position” one
Indian leader announced a new
project (in Hanoi). Name the leader

and the project :

(A) Atmanirbhar
Narendra Modi

(B) Sushma Swaraj — Act East
Policy

(C) 3 Trillion Economy — Dr.
Manmohan Singh

(D) Multilateral Approach — Dr. S.

Jaishankar

Bharat

Identify the treaty between East
India Company and Nepal signed on
1816 :

(A) The Boundary Treaty
(B) Treaty of Sugauli
(C) The Treaty of Susta

(D) Indo-Nepal Treaty of Peace and
Friendship

Battle of Longowal fought during

the war of ................
(A) 1948
B) 1962
(C) 1971
(D) 1999

53.

54.

55.

APR - 16224/I1—A

O AT giera Ureferer frodia

ST 3eXTH Ueh R S Teh

T Uehedr=l EOON hell (BARHAEN).
A e S YeRed

(A) AR IR — 5 F&

(B) FHid g &R0 — Siwet Foa1 @

ne NN o

(C) 3 ZeTa 3ehAMHI

— <. FER

(D) HEAeId 39 — f. TH. SHgEt
1816 H&Y T2 TS HUAT S0 AqTS

AT JeleTish! ShioTeal FIRER (Geer)
w@ierll A el ?

(A) ST 2=

B) T st e

(C) el ot g

n_n

Zrel

(D) TEI-ATTeS S kT pe e
ThesfyTa

AT el JareTieh] shivrel J5Td

e el ?

(A) 1948

B) 1962

(C) 1971

(D) 1999
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56.

57.

58.

59.

Minabao and Khokharapar border is

in between :

(A) Gujarat and Sindh
(B) Rajasthan and Sindh
©)

Indian Punjab and Pakistan

Punjab

(D) Jammu Kashmir and Pakistan

Punjab

Chakama refugees came to India

(A) Myanmar

(B) Bangladesh
(C) Tibet

(D) Sri Lanka

Who is the first National Security
Advisor of India ?

(A) K. Subrahmanyam

(B) Brajesh Mishra

(C) KP.S. Gill

(D) Ajit Dobhal

Gwadar Port of Pakistan has

occupation.
(A) USA
B) UK
(C) China
(D) France

56.

57.

58.

59.

APR - 16224/1T—A

faaman enfor wteRmm® e
JEeTden] IR FEfdd eTg ?

(A) ToRm@ for Ty

B) TswEAE i {9y

(C) YRA™ U iy iferea™ IsTe

(D) S HYHR 07 iheae Ie

TRA IO QT =k faffeq
e ?

(A) HITHR

(B) SR

(C) wied

(D) #iteieh

WAl Tiee] TR FLET FeeT T il
B ?

(A) =. o=

B) fororer fAsm

(C) +.qr.um. fird

(D) &S Sard

IR TAIER S § JEIeTdeh! ShIo=]
Sy e (qreE) eI ?

(A) 9.U48.T.

B) .

(C) =

(D) wT
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60.

61.

62.

Which terrorist organisation not
based in Pakistan ?

(A) Lashkar-e-Taiba

(B) Jaish-e-Mohammed
(C) Al Badr Mujahideen
(D) JKLF

What is “Positive Peace” ?
@)

(z1) It aims at providing wide range

It goes beyond law and order.

of welfare services.

(zii) It aims at creating a Police
State.

(A) All three are correct
(B) All three are wrong
(C) Only (@) and (ii) are correct
(D) Only (i) and (iii) are correct

Which statement is not true about

“Structural Violence” ?

(A) Difference between actual and

potential is structural violence

(B) dJustification of violence on
cultural ground is structural

violence

(&)

Subject-object-action is not

easily discernible

(D) Actor or perpetrator of violence

cannot be easily identified

60.

61.

62.
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HITT GEITdare! e UTfhearTei
qaiga e ?

(A) TRT-T-Ta

(B) SRI-T-HEHT

(C) 1@ _X HeMee

(D) ~.%.TeA.Th.

HHNHh TMaal usl & 2

() R S YHERI=a Tdlheld

& A 9 GHIE S

(i) = IMAd= LI Fd ghedEa
HEAh FaT [Ed ¥ SR

(i) A1 TMAdA T TSyl T
o 0 7 oTEd

(A) = gd fagm/sed sle o

(B) =l ¥d 1d T Fepil e

(C) wa (i) &M (ii) SRS e

(D) W (i) M7 (iii) SR 3T

LA fosag/feaemeRa refiaient

FHIU fagHE ®WR AR ?

(A) TTEHS EHER =S JeIed
eae fTEmEr enfur femmEr
SFSATITT AT ATdiel Bleh ol

(B) W{EAIH® UM BUN 9ehids
SMYRER. sheled fgam= TTseientu

(C) Tova-3fEse-Friam! Fe giteamd
Iq AR

(D) fEOMER FHTOR X fhar TR

Areserdl Jq
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63.

64.

65.

Which among the following is not
an Intergovernmental Organisation

(IGO) ?
(A) United Nations (UN)

(B) International Monetary Fund

(IMF)
()
(D)

Amnesty International

World Trade Organisation

(WTO)
Gandhian Satyagrah :
(z) 1is a pacific means to settle
disputes

(i) believes in the end justifies

means

(i11) believes in the close connection

between means and end
(A) All three are correct
(B) All three are wrong
(C) Only (i) and (i1) are correct
(D) Only (i) and (iii) are correct
Which are not the methods of pacific

settlement of disputes ?
(A) Arbitration
(B) Negotiations
(C) Mediations

(D) Military intervention

63.

64.

65.

APR - 16224/1T—A

TETYeRT IV WEe § ‘geuawa=’
TEed e ?
(A) FEes 9

B) TEHIES A we
(C) ST T=HIMe

(D) dc€ 3T ANAESYE

Tgredl M Ui TeuE WU

() Toarg el wreramE fafirs
T AR R0

(i) WSl 3|l faverw el fh 99
= o=

(i) ToaTe MHerTel SHIEUATETS |IeH ST
YT THeRTe =1 =i Tsed 9ey S
91 fagamE s1Hal

(A) = 79 a0eR oTed

B) fot TaF =& oI

(C) e (i) ST (ii) sRI&X 2Ted
(D) W (i) ST (i3) SREX 3T
qEreiehl FIVAl Tga faarg e
FETERT Hafaq AR ?

(A) hal]

(B) Ta dmEEE ==t
(C) weEAl

(D) @Ry BHI&
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66.

67.

Who gave the concept of ‘Center and

Periphery Nations’ ?

(A) John Galtung

(B) Stephen Cohen

(C) Henry Kissinger

(D) Barry Buzan

What is Peace Education ?

(A) To cultivate a culture of peace

based on human rights

(B) To teach about negotiation
processes in the contemporary
history

(C) To teach about military tactics

(D) To study the history of warfare

66.

67.

APR - 16224/11—A
HATT ST IS TRET HheT T YETeTieh]
HIOT TS ?
(A) S eI
B) I HEH
(C) &I ferfa=r
(D) =& g=ira

vaar e |vN ™ ?

(A) I WERATAT 9GTIAT BT CHTHE
SRR nHfia o1me

(B) dchTel Ufqelfaer shei@sd Harg
SeTee-a= Jered e <u

(C) oIl SIau=mered forefo <o

(D) Uferfas woEEe JEagdrE
MY HIO

68. The human rights was adopted in | 68, W= TR SaT=a STEAT=T=T SO0
Universal Declaration was in the q e e T FEE et ?
year :

(A) 1776
(A) 1776
(B) 1948
(B) 1948
(D) 1947 (D) 1947
25 [P.T.O.



69.

70.

71.

72.

Malnutrition is an example of :
(A) Cultural violence

(B) Physical violence

(C) Personal violence

(D) Structural violence

Which among the following is a

service provider group ?
(A) Amnesty International
(B) Human Rights Watch
(C) Red Cross

(D) Greenpeace Movement

Which forest area has largest forest

fire reported during 2019 ?

(A) Kanha

(B) Kaziranga

(C) Bandipur

(D) Gir

Which of the following gas leaked
during Bhopal gas tragedy ?

(A) Potassium cyanide

(B) Methyl isocynate

(C) Phosgene

(D) Hydrogen cyanide

69.

70.

71.

72.
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S UINUT= el @

(A) WRepfaw fEEMR
B) i fTa=Er

(C) =R TEam=R

(D) TEIF feaEr

b n

h[UTdl HAT QT <h {0 1<

ETeTeTyeh]
<IN
(A) FTET ZSIEA

(B) AHE AfHRR ==

(C) T *H

(D) T FEHe

2019 L TEerdeh! shivreT foahToT ST

AR ST (SATeT ) Higdl FHTeR,
THEE o ?

(A) =Tl

(B) =TT

(C) TR
D) TR

JroTe e TH SSTe v argE]
Teail e B ?

(A) Ty RS

B) e s

(C) s

(D) TEENH AEARS
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73.

74.

75.

Which place was most affected by
massive flood in Uttarakhand in
2013 ?

(A) Ramabara
(B) Gaurikund
(C) Sonprayag
(D) Narayankoti

Who chaired the National Disaster
Management Authority ?

(A) President

(B) Prime Minister
(C) Home Minister
(D) Defence Minister

Which toxic gas is known as ‘the

king of the battle gases’ ?
(A) Phosgene

73.

74.

75.

APR - 16224/I1—A

2013 #&d IUEE ALY W HII
(STAYE) STl &a Fald SR e
FIvreEn foswmon gt ?

(A) THERT

B) RS

(C) FFY=m

(D) TRV

TS AR STaEeds & Jererdeh]
FIV= STl g Sd 2
(A) ez

(B) dTquEH

(C) Tews

(D) SX&Turs

WeAAdeh! Il 2l Tdel, IS
ITILT STO=a1 AT HTaT TSI
U 7

(A) ®EsH
(B) Mustard B) T=E
(C) Lewisite (C) Tz
(D) Sarin (D) TH
76. State Disaster Management | 76. HENISLIdTA UsaUTdesial= AU
Authority of Maharashtra headed SFETUATATEAS ST YR l:Lqﬂ(v]q\q—ﬁ
by : ST SEIATETe 9 2
(A) Chief Minister (A) Tqeams
(B) Home Minister B) ‘E“:ﬁﬁ
(C) Minister of Disaster (C) ATIIT =AY |3l
Management (D) HERTE TG SR S 3
(D) DGP of Maharashtra RIS
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77.

78.

79.

80.

Name the relief operation launched
by Indian Army in the wake of
heavy rain in Uttarakhand during
June 2013 :

(A) Operation ‘Rahat’

(B) Operation ‘Raksha’

(C) Operation ‘Surya-Hope’
(D) Operation ‘Indra’

Which area of India is more

vulnerable to Cyclones and

Tsunamis ?

(A) Northern India

(B) Eastern-Northern India
(C) Central India

(D) Entire Coastal Area
Which is the disaster capital of
India ?

(A) Delhi

(B) Chandigarh

(C) Odisha

(D) Indore

When Wilbur and Wright brothers
made the first mechanical flight and

created the aerial age ?

(A) on 17 December, 1903
(B) on 27 December, 1903
(C) on 7 December, 1906
(D) on 17 December, 1899

77.

78.

79.

80.

APR - 16224/11—A
2013 A= IREEAS ‘' stfagsel

AT WA QATSA TS
GITMEATAT Hed hAugrdrel il HigH
qafaett T qEcTisht shivre e gifea
AR ?

(A) SOEE T

(B) T &l

(C) SRy e

(D) SAMIE T

YA hI0d &3 T HrFehelor 3o
fegAH= gieshAgd S dihaE®
AMed 7 3= qHg fHeren

(A) 3 49Rd

(B) T&-3 WA

(C) H&q WA

(D) wyu w5 oA

TRAAie o< Waied TSer S
& ?

(A) feeeft

B) =Te

(C) sirem

(D) 3=KR

foretert &71ftT g =y At formmr=t afget
Tk ST hegl chedl ST gaTs el
qLard el ?

(A) 17 fe¥=r, 1903

B) 27 fed=R, 1903

(C) 7 fedar, 1906

(D) 17 fed=R, 1899
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81.

82.

What is ‘Resource curse’ ?

(1) A country underperforms
economically despite being rich

in natural resources

(1) British economist Richard Auty

coined the term ‘resource curse’

(zir) African countries are victims of

‘resource curve’
(A) All are correct
(B) () and (ii) are correct
(C) (@@i) and (iii) are correct
(D) All are wrong

What were the purposes of Marshall

Plan of 1947 ?

() To prevent expansion of
Communism in Europe

(@1) To reconstruct the economies of

Europe destroyed by the Second
World War

(Ziz) Marshall Plan failed to check
expansion of Communism in

Europe
(A) All are correct
(B) Only (i) and (ii) are correct
(®)

(D)

Only (ii) and (iiz) are correct

All are wrong

81.

82.

APR - 16224/I1—A

HHEA MU WS wE 7

() WrEHY e <91 SHd AT g5
STfYehgsesl HHHRT.

Gi) fodren srefae fme o= =it fed

HITE! Hed T HSal.

(iii) 3Thish TS HHTHH IMUa o)
EEGIIE G

(A) Td wur sl fawel o7ef sieR s

B) (@) =0T (i) SR 3T

(C) (1) &M (4i) S=R 318

(D) e 1e/faau = TR

1947 wefitet Ofeiar wiT= fafay &g o

e ?

() FUIALS AR TR IREeg
ol

(i) TH1 WEGT I STgeTaee

S OART e B WA gUdE
FfFERIT YAESSiEad HUd

(ii) FUIHHTE A=A THRIE Reg
T HiSTe i STIIE 3.

o~ (oY

(A) a0a o=l
(B) W (i) MW (ii) SRS e

(C) W (ii) M1 (i4i) S&R 3ed
(D) we/fagau ge-AY Tehia Ted

39 e TR
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83.

84.

85.

What is “Scorched Earth Policy” ?

@) strategy of
destroying everything before
retreating to prevent its use by

A military

enemy forces.

(it) A military strategy of denial of

natural resources and

infrastructure to invading army

(z11) It aims at crippling the war
fighting capacity of the enemy
army.

(A) All are correct

(B) Only (i) and (i1) are correct
(C) Only (i) and (iiz) are correct
(D) All are wrong

Who were the Defence Minister of
India during Sino-India War
1962 ?

(A) V.K. Krishna Menon and
Baldev Singh

(B) V.K. Krishna Menon and
Yashwant Rao Chavan

(C) Kailash Nath Katju and Baldev
Singh

(D) Baldev Singh and Jagjivan
Ram

The theory of Lebensraum as tool
of foreign policy is referred to :

(A) Military Diplomacy
(B) Living Space
(C) Scientific Temperament

(D) Cultural Diplomacy

83.

84.

85.

APR - 16224/T1—A
ThIREe AY el WU g ?

0l & THefledl oS
(i) T ShIUCATE YehITH] SIEHT
foe T, qA T Yol

IMHAIYET A8 e T-faefted
(i2i) I AT GF FHITATE &7 T
w00 ® waE o e W
3Ee gt
(A) wd fagt a1 seR sTed
B) e (i) MO (i) TR A2
(C) el (i1) =T (fi7) S AR

(D) W= I 3Ted

1962 =41 WRA-=H JHTa A= HL&T0
o § e
(A) ot FooTHEA eMfor seiea fEm

(B) % FOTHTA A IREAUS R0

(C) ey Hes] SN seea f&m

(D) werea fam snfor STsieq o™
TorsRgo=T T9g € T 9Rum= T&
A d—ar 99 9l

(A) Toeitedl fewdt

B) fo=em 9

(C) HE<ihie TFRH=

(D) e=ra fewnHH
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86.

87.

88.

The term Autarky refers to :

(A) Economic self-sufficiency

(B) Economic interdependence
(C) Arms Trade

(D) Defence Technology
According to SIPRI year book 2023,

the US remained main exporter of
Major Arms during 2018-22 with a
global share of :

(A) 40%
B) 50%
(C) 60%
D) 65%
The Kaladan Multi-modal Transport

Project of India consists of which of

the following ?
(1) Sea

(2) River

(3) Railway
(4) Road

Select the correct answer using the

codes given below :
(A) (1), (2) and (4) only
B) (1), (3) and (4) only
(C) (2), (3) and (4) only
(D) (1) and (2) only

86.

8'7.

88.

APR - 16224/T1—A
sferenl 21 IeErael Yeierdeh! ehIvmett
qafyd afg ?

(A) Tl TEmacs/wrEgord
(B) oY TREREEsH
(C) Y& =AMR

(D) femg TS
2023 =1 TqUfi T3NFFTAR, 2018-22 A1
HOEed U I Faiame

T ST BT AT ST 29 § SR —
I g feEer

(A) 40%
B) 50%
(C) 60%
D) 65%

S N

YRATH] Thellal HeerHied SIae Yk
§ Wil SR Hafd e ?
(1) TR/

(2)

(3) T

4) s

arel feced Ainfae wEEie o
-q-q-i_q ﬁa@ §

(A) w (1), (2) oo (4)

B) & (1), (3) (U (4)

(C) & (2), (3) 3fur (4)

(D) ®e (1) A (2)
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89.

90.

91.

The term ‘Logistics’ refers to :
(A) Communication Network
(B) Supply Chains

(C) Mobilisation of Finances
(D) Army Recruitment

The discipline of ‘Defence Economics’

focuses on :

(A) Allocation of National

Resources for National Security
(B) Defence and Foreign Affairs
(C) Military Education
(D) Strategic Culture

“Different phases in the life of a
particular technology” is called

as :
(A) Technology Life Cycle

(B) Extension of Technology
(C) Technology Upgradation

(D) Application of Science

89.

90.

91.
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IESl SHATYTA § YREcl Jaiel hivred]
EECa N 1ol

(A) HHFHIHE T2Ts

B) =A™ =M

(C) HielleEsier 3% WA

(D) Tt Rehedie

WA HefIE B e wWewia

eleTUeh! hIUTC SR Hafed Mg ?

(A) TS GRS TS HIeHirs
et

B) feb= sfs ®wA Therd

{a (aY hnY

(C) THeftedl wogehym

(D) VS Teat

fafere T weEen fafay <@
I M GRAATHY FEHUAE O

(A) AT AEH HEH
(B) THHSRM 3AF oHTTS
(C) AT STIUEIH

D) A=THIA F dEIH
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92.

93.

94.

If a nation aspires to develop a
major regional and global influence

then what it needs ?

(A) It needs to have modern
military capability supported by
sound techno-economic

capability

It

capability

B) needs only economic

(&)
(D)

It needs no capability

It needs internal socio-political
capability only

When “Economic liberalization” in
India took place ?

(A) 1990

B) 1991

(C) 1992

(D) 1993

The notions of most of the nation is

that the last guarantee of security

(A) Artillery weapon
(B) Nuclear weapon
(C) Biological weapon

(D) Chemical weapon

92.
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SR TEEN USel Hiel Weferes et

SINIGER L ICACEIRICTLR El ez et

W FHYAT AR e 7

(A) TAIH-AF &THITE STy
TSR &7

(B) e STTfefeR &THAT STEell TTfeEs)

(C) HIAE A= TS A&

(D) IdTd TBEaR HTAT SR —TSTeh 14

&8l

AT S SERIHLIMA HIHHHE
TITETeteh! i IHiUET gFam
el ?

(A) 1990

B) 1991

(C) 1992

(D) 1993

3Tk {eerE ST Sheu oTe Toh gRar
fqe SmvEd WU
(A) SRl o

(B) Theilei qu

(C) TTcTSehel a9

(D) HfHwe" U4
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95.

96.

97.

When MIG project was transferred
from the then USSR to India ?

(A) After 1947-48 Kashmir

Operation
(B) After 1962 Chinese Aggression
(C) After 1971 Indo-Pak War
(D) Before independence

The abbreviation HIMAT stands

for :

(A) Highly Made Tactical Weapons

(B) Highest Manufacturing

Technology

(C) Highly Manoeuvreable Aircraft

Technology Vehicle

(D) Height Made Technology

Vehicle
K-15, SAGARIKA is a :
(A) SLBM
(B) SRBM
(C) ICBM

(D) IRBM

95.

96.

97.

APR - 16224/1T—A

o fomm Scaeehal Wehed  IeTETEREA

URAT <hegl BT H{vad el ?

(A) 1947-48 FTHR SATNRIHE T

(B) 1962 ==t SMHAUTHMR
(C) 1971 = YRA-UH FHTAA
(D) @AY

T9.AF.TH.CH. 3 TgFH HABHE/

qUEEY GRIATH0 3T

(A) Bl UE Jaidhal aud

(B) TER-TI{haF{T eHTelrs]
(C) BrHedl RIqsiee] UTehTR eials

EJREa

(D) BEe T THIANST =EHd
K-15 9FRieR 3 qeladehl ehiored
gUoTEel Fefad e ?

(A) TH.TA.S1.TH.

(B) TH.TE.S1.TH.

(C) o=t um.

(D) 37, SR
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98.

99.

100.

Which organisation has partnered
with the Headquarters, Integrated
Defence Staff for joint research in

defence technology ?

(A) CSIR

(B) ISRO

(C) MOD

(D) DRDO

Which of the following is the

common language in Artificial

Intelligence ?
(A) Python

(B) Java
(C) Lisp
(D) PHP
Which is

technology being

incorporated into soldier's clothings,
that would automatically hide the

soldiers presence ?

(A) Chameleons Technology
(B) Bio-Camouflage Technology
(C) Weaving Technology

(D) Hide and Seek Technology

98.

99.

100.
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ATl Haeeh! e fehs W=

~

SRV K
Y WeEE &% Ifesd ?
(A) HI.TH.379.3T.

feh S=ATalSioR. hIvd T

(B) 3T¥.TH. 3.0
(C) TwH.3A.ET.
(D) fe.3mEt.a.

fa

S CA

~

RIS SeleSaHed  HMHT=Iqu]

(a = La

REIGEED
Sl ?

(A) 9=IH

4

& b S
hITTHT HTSET Tl Sh el

(B) Sl
(C) fere
(D) dr.u=..

et o/ IO T 3T fR o
U TR TSRS SYFNTT S0 S

e Toh SATHes o IE[CT SHUR &l I
TSI oY bl ?

(A) <HICST STersi

(B) SEI-hHGRAS TSI

(C) fefam emfarsht

(D) TEe 3= Hi eAlars

35

[P.T.O.



APR - 16224/1T—A
ROUGH WORK

36



